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1. John’s utility function is u(qq,q,) = \/a + \/a Find his compensated demand function for good 1.
(10%)

2. A firm uses labor (L) and capital (K) to produce. It has production function f(L,K) = LK. Find the
elasticity of substitution of the isoquant q = f(L, K). (10%)

3. Sofia’s utility function is u(q4,q;) = min(qy, qz). Her income is 40 and the priceis (py,p,) = (1,1).
Now p; risesto 2. Find the equivalent variation. (10%)

4. A firm has production function f(L,K) = VLK + L + K. In the long run, we assume that the wage rate is
$1 per hour and the rental rate of a unit of capital is $1 per hour. Find the firm’s total cost function C(q).
(10%) »

5. John’s utility function is u(q4,q;) = g41q». His income is 40 and the priceis (py,pz) = (1,1). Now p,
rises to 2. Find the change of his consumer surplus. (10%)

6. In a Stackelberg model, we assume that firm 11is the leader and firm 2 is the follower. Both firms have the
same cost function C(q) = 2g. The demand functionis Q = 100 — p, where Q is the quantity of apple
and p isthe price of apple. Find the subgame perfect equilibrium. (10%)

7. In a pure exchange economy there are two consumers. Consumer 1 has endowment (1,2) and consumer 2
has endowment (2,3). Both consumers have the same utility function u(qgy,d,) = q;q,. Find the
Walrasian equilibria. (10%)

8. Does a monopolist choose its optimal output level in the elastic range of market demand? Explain your
answer. (10%)

9. A consumer has preference relation Z which is represented by a utility function. Is = complete and
transitive? Explain your answer. (10%)

10. A firm has a production function exhibiting increasing returns to scale. Does the firm’s cost function
exhibit economies of scale? Explain your answer. (10%)




